
 
 

आयकर को वििरण  
        

क्र 

सं 
 b]lv ;Dd 

निर्धारित 

दि 

१ ?= 1 Ps ?= 2 nfv ;Dd ?५० 
२ ?= 2 nfv 1 eGbf dfly ?= 4 nfv ;Dd ?=१०० 
३ ?= 4 nfv 1 eGbf dfly ?= 6 nfv ;Dd  ?=१५० 
४ ?= 6 nfv 1 eGbf dfly ?= 8 nfv ;Dd ?=1७5 
५ ?= 8 nfv 1 eGbf dfly ?= 10 nfv ;Dd ?=200 

६ ?= 10 nfv 1 eGbf dfly  ?= 12 nfv ;Dd  ?=250 

७ ?= 12 nfv 1 eGbf dfly ?= 14 nfv ;Dd ?=300 

८ ?= 14 nfv 1  eGbf dfly ?= 16 nfv ;Dd ?=350 

९ ?= 16 nfv 1 eGbf dfly ?= 18 nfv ;Dd ?=375 

१० ?= 18 nfv 1 eGbf dfly ?= 20 nfv ;Dd ?=400 

११ ?= 20 nfv 1 eGbf dfly ?= 22 nfv ;Dd ?=500 

१२ ?= 22 nfv 1 eGbf dfly ?= 24 nfv ;Dd ?=600 

१३ ?= 24 nfv 1 eGbf dlfy ?= 26 nfv ;Dd ?=750 

१४ ?= 26 nfv 1 eGbf dfly  ?= 28 nfv ;Dd ?=850 

१५ ?= 28 nfv 1 eGbf dfly ?= 30 nfv ;Dd ?=1000 

१६ ?= 30 nfv 1 eGbf dfly ?= 32 nfv ;Dd ?=1200 

१७ ?= 32 nfv 1 eGbf dfly ?= 34 nfv ;Dd ?=1400 

१८ ?= 34 nfv 1 eGbf dfly ?= 36 nfv ;Dd ?=1600 

१९ ?= 36 nfv 1 eGbf dfly ?= 38 nfv ;Dd ?=1800 

२० ?= 38 nfv 1 eGbf dfly ?= 40 nfv ;Dd ?=2000 

२१ ?= 40 nfv 1 eGbf dfly ?= 42 nfv ;Dd ?=2200 

२२ ?= 42 nfv 1 eGbf dfly ?= 44 nfv ;Dd ?=2400 

२३ ?= 44 nfv 1 eGbf dfly ?= 46 nfv ;Dd ?=2600 

२४ ?= 46 nfv 1 eGbf dfly ?= 48 nfv ;Dd ?=2800 

२५ ?= 48 nfv 1 eGbf dfly ?= 50 nfv ;Dd ?=3000 

२६ ?= 50 nfv 1 eGbf dfly ?= 55 nfv ;Dd ?=3500 

२७ ?= 55 nfv 1 eGbf dfly ?= 60 nfv ;Dd ?=3750 

२८ ?= 60 nfv 1 eGbf dfly ?= 65 nfv ;Dd ?=4000 

२९ ?= 65 nfv 1 eGbf dfly ?= 70 nfv ;Dd ?=4500 

३० ?= 70 nfv  1 eGbf dfly ?=75 nfv ;Dd ?=5500 

३१ ?= 75 nfv  1 eGbf dfly ?=80 nfv ;Dd ?=6500 

३२ ?= 80 nfv  1 eGbf dfly ?=85 nfv ;Dd ?=7500 

३३ ?= 85 nfv 1  eGbf dfly ?=90 nfv ;Dd ?=8500 

३४ ?= 95 nfv 1  eGbf dfly ?= 1 s/f]* ;Dd ?=10000 



 
 

आयकर को वििरण  

३५ ?= 1 s/f]* 1  eGbf dfly 
?=1 s/f]* 10 

nfv ;Dd 
?=12000 

३६ ?=1 s/f]* 10 nfv 1 eGbf dfly 
?=1 s/f]* 20 

nfv ;Dd 
?=12500 

३७ ?=1 s/f]* 20 nfv  1 eGbf dfly 
?=1 s/f]* 30 

nfv ;Dd 
?=13000 

३८ ?=1 s/f]* 30 nfv  1 eGbf dfly 
?=1 s/f]* 40 

nfv ;Dd 
?=14000 

३९ ?=1 s/f]* 40 nfv 1  eGbf dfly 
?=1 s/f]* 50 

nfv ;Dd 
?=15000 

४० ?=1 s/f]* 50 nfv 1  eGbf dfly 
?=1 s/f]* 60 

nfv ;Dd 
?=16000 

४१ ?=1 s/f]* 60 nfv 1  eGbf dfly 
?=1 s/f]* 70 

nfv ;Dd 
?=17000 

४२ ?=1 s/f]* 70 nfv 1  eGbf dfly 
?=1 s/f]* 80 

nfv ;Dd 
?=18000 

४३ ?=1 s/f]* 80 nfv 1  eGbf dfly 
?=1 s/f]* 90 

nfv ;Dd 
?=19000 

४४ ?=1 s/f]* 90 nfv 1  eGbf dfly ?=2 s/f]* ;Dd ?=20000 

४५ ?=2 s/f]* 1  eGbf dfly 
?=2 s/f]* 50 

nfv ;Dd 
?=25000 

४६ ?=2 s/f]* 50 nfv  1 eGbf dfly ?=3 s/f]* ;Dd ?=32000 

४७ ?=3 s/f]* 1  eGbf dfly 
?=3 s/f]* 50 

nfv ;Dd 
?=39000 

४८ ?=3 s/f]* 50 nfv 1  eGbf dfly ?=4 s/f]* ;Dd ?=46000 

४९ ?=4 s/f]* 1  eGbf dfly 
?=4 s/f]* 50 

nfv ;Dd 
?=53000 

५० ?=4 s/f]* 50 nfv 1  eGbf dfly ?=5 s/f]* ;Dd ?=60000 

५१ 
5 s/f]* 1  eGbf dflysf] ;DklQ To; kl%sf] k|To]s 

xhf/df ?= 2 sf b/n] 
    

 


